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COMMERCE
Paper 11

Time Allowed : li- Hoursl [IMaximum Marks : 100

Note — Attempt all questions. All questions carry equal marks.

1.

Choose the type of the environment that poses constraints largely beyond the

control of individual industrial enterprises and their managements.
(A) Internal (B) Relevant

(C) External | (D) Business

Point out the most important objective of economic planning of India.
(A) Economic stability

(B) Self Reliance

(C) Social Justice

(D) Accelerated economic growth with increased standard of living

Identify the term referring to the practice of falsely representing that the goods

are of particular standard, quality or quantity.
(A) Restrictive trade practice

(B) Regular practice

(C) Unfair trade practice

(D) Commonly adopted practice

T.B.C. : 2714/ET—I1 2
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4.  Which of the following terms is true for explaining the nature of environment ?
(A) Medium of social change (B) Fixed and open
(C) Independent factors (D) Controllable factors

5.  Which of the following government policies regulates the domestic market ?
(A) Industrial policy (B) EXIM Bank policy
(C) Fiscal policy (D) Pollution control policy

6. Although accounting information is used by a wide variety of external parties

financial reporting is prin_‘.[aﬁ]j,r directed towards the information needs of :
(A) Investors and creditors

(B) Government Agencies such as Internal Revenue Service

(C) Customers

(D) Trade Associations and Labour Unions

7. A complete set of financial statements for XYZ company, at December 31, 1999,

would include each of the following, except :

(A) Balance sheet as on December 31, 1999

(B) Income statement for the year ended Decemnber 31, 1999
(C) Statement of projected cash flows for 2000

(D) Notes containing additional information that is useful in interpreting the

financial statements

T.B.C. : 2T 4/ET—II 4



4. Trotafes 8 § S99 © SO0 F UHG B AT FA @ AL gD T 7
(A) Tfes sem@ &1 s (B) fafysm ik g
(C) T FNF D) o dra
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6. wafy s Jyo fafi= =g 2 g faga =9 ¥ wa@m fam s &, w o faam
maﬁﬁmﬁﬁmmﬁaﬁaﬁtﬁﬁfw@m% ?

(A) Traw= R =i

(B) &M A 94 5 e To ¥4
(C) IgHrRT

(D) =ANR TYEF R AW T

7. 31 famer, 1999 # XYZ wE & fau fadm w9 w1 vl gg=ar frefatea
4} 59 w & Jonar Tod S wiEa won 7

(A) 31 fe=’, 1999 1 e A
(B) 31 femmar, 1999 & =d WHIGA W AE HYA

(C) 2000 =1 Ufyga w= 989 F9A

(D) vra sAfafEa 9o @a ¢ 1 favm FuE #) aftfa 53 § 1wk ©
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10.

Cash flow statement enables the analysts and creditors to indentify :

(A) The enterprise’s ability to meet its obligations and ability to pay dividends

and its needs for external financing
(B} Application of funds
(C) The operating profit of the enterprise during the period
(DD} The availability of funds for purchasing assets
It is calculated to find out the amount of compensation to the old partner :
(A) Sacrificing Ratio
(B) Gaining Ratio
(C) Outgoing Partner Capital Ratio
(D) None of the above

Caleulate the debt to equity ratio, given the total assets = Rs. 1,253 and total

owner’s equity = Rs. 327,
(A) 0.12 (B) 0.52

(C) 0.83 Dy 1.27

I'B.C.: 2T14ET—II B



8. ¥4 ¥ed Fyu7 favems W = F ¥ wgEr w1 drg w9 B2
(A) T99 F1 A Foed = A T R uF w9 & MR sowt 9=y faeg ww
(B) &9 =1 I9@m
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(D) =iEE 4t % faw = v

9. T F FE AEE HN R [ TERR F WS g@m e e

(A) Toff s
(B) wmaif= 39

(C) =rem feigr =1 95 sqwm
(D) 3vdsa # & =8 98

10. &3 58 == 991 9oqwE & U T T FfA0 FEF TEd I9fE = 1253 5 3%

FHe WIfEw T OAUETE = 827 5|
(A) 0.12 (B) 0.52

(C) 0.83 (D) 1.27
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11. When an existing company takes over the business of one or more existing

companies, it is called :
(A) Merger
(B) Absorption
(C) Amalgamation
(D) Externational Reconstruction
12. Which of the fullnwing- is not a method of valuation of shares ?
(A) Net Asset Basis Method
(B) Earning Capacity Method
(C) Dual Method or Fair Value Method
(D) Super Profit Method

13. In times of falling demand, selling price can be fixed at this point, stated

mathematically as :
(A) 8P = FC 4+ VC (B 8P < VC

(C) SP > VC (D) SP = VC

T.B.C.: 2714/ET—II 8



11, &9 TF FEiEg PR TF 9 afas sofEE % =R § FEYR H dueE ¥ A

T FE I T
(A) wfEe
(B) #=gIeol
(C) THIRLT
(D) STEwRZEE GAfE
19 Frofefen § 4 €Fd R G w1 A W E 2
(A) FE o sEm fafy
(B) surs &Aa T&fy
() sh fafu o == o= fafy
(D) =2 =4 a4

13. ﬁmﬁgﬁnﬁ%mﬁﬁmqﬁwﬁﬁq{ﬁmﬁrmtﬁrnﬁﬁmmﬁ

M YHER T OB -
(A) SP = FC + VC (B) SP < VC
(C) SP » VC (D) 8P = VC
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14. The emergence of Business Economics as a new branch of economic study can

15.

16.

Y

be attributed to :
(A) Rapid increase in demand for professionally trained business manpower

{B) Increasing use of economic theory, logic, concepts of economies in the process

of business decision-making

(C) Growing complexity of business decision-making due to rapid expansion

of business and rapidly changing market conditions of business environment
(D) All of the above
A market consisting of a single seller and a single buyer is called :
(A) Monopoly (B) Bilateral Monopoly
(C)} Diseriminating Monopoly (D)) None of these

From the point of view of social welfare, monopolistic competition suffers from

the fact that :
(A) P <« MC (B) P = MC

(C) P > MC (D) None of these

If a firm has monopelistic powers in the product market but ne power in the

input market, the factor is paid :
(A) VMP | (B) MRP < VMP

(C) P <« MRP (D) None of these

T.B.C. : 2T14/ET-I1I 10
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15.
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(A) P < MC (B) P = MC
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(A} VMP (B} MRP < VMP
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18. The situational variable that is considered as both external and internal
1S
(A) Economic (B) Political

(C) Technological (D) Socio-cultural

19. When management pays attention to more important areas and when day to
day routine problems are looked after by the lower level of management is

known as :

(A) Management by Objectives (MBQ)

(B) Management by Exception (MBE)

(C) Unity of command

(D) Mane';gement by Wandering About
20. ‘Role Conflict’ is a type of :

(A) Intrapersonal Conflict

(B) Interpersonal Conflict

(C) Intergroup Conflict

(D) External Conflict

T.B.C. : 2TN4/ET—II 12
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(A) amfifs (B) TW=HIfasH
(C) T (D) wmnfe-regfs

19. & WEYA HEEyel &6 W e 39 § o v fea-ufatam e = woensd w dem

A F v A fom s 3 @ R 53 9@ %
(A) w2l =1 wa¥A (MBO)
(B) sTmai &1 wEud (MBE)
(C) a9l = THa
(D) w99 gHYH
20. ‘Y7 FoE' T UF THER §
(A) FUafFRS g
(B) sndafens wew
(C) #HTHTE Feg

(D) A FoE
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21.

22.

23.

A ‘Gantt Chart’ is :

(A) A scheduling chart that shows actual and planned output over a period

of time

(B) A flowchart that shows the sequence of activities needed to complete a

project
(C) A mathematical technique that solves resource allocation problems

(D) A technique for identifying the point at which the total revenue is just

sufficient to cover total costs

An approach to control in which employee behaviour is regulated by

organisation’s culture, is called :
(A) Bureaucratic control (B) Clan control -
(C) Market control (D) General control

The ‘Blue Ribbon Committee’ constituted to frame codes on Corporate Governance

was set by :
(A) Securities and Exchange Board of India (SEBI)
(B} Confederation of British Industry

(C) Securities and Exchange Commission (SEC) New York: New York Stock
Exchange (NYSE) and National Association of Securities Dealers (NASD)

(D) Financial Reporting Council; London Stock Exchange; Confederation of

British Industry and other Institutions of UK

T.B.C.: 27/14/ET—II 14
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24. "Market Development’ means ;
(A) When a firm tries to increase market share among existing customers
(B) Creating new products for present markets
(C) Attracting new customers to existing products
(I Increasing sales by intrﬂ-d:ur:ing new products into new markets
25. The term ‘Network Marketing' includes :
(A) Virtual Marketing (B} Multilevel Marketing
(C) Network Organisation (D) Social Networking

26. ‘Flacing two or more brand names on a produet or its package’ is referred to

as |
(A} Complementary branding (B) Cooperative branding
(C) Co-branding (D} Ingredient branding

27. A manufacturer of ‘Unbranded Sugar’ is selling :

(A) An Augmented product (B} An Industrial product

(C) An Unstandardised product (D} A Generic product

T.B.C.: ETN4/ET—II 16
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28. "Catalogue Marketing is a form of
(A) Online marketing (BY Direst marketing
(C) Indirect marketing (D) None of these

29. According to Walter's model, if the rate of return is higher than the cost of

capital, then the firm will be a :
(A) Growth firm (B) Declining firm
(C) Stable firm i (D} None of these

30. Under Net Income Approach, higher the degree of leverage :
tA) The lower would be the weighted average cost of capital
(B} The higher would be the weighted average cost of capital
(C) The weighted average cost of capital remains constant
(D) None of the above

31. Internal Rate of Return is the rate at which :
(A) NPV is positive (B) NPV is negative

(C) NPV is zero (D) None of these

T.B.C.: 2714/ET—II 18
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(A) #==EA fAauuE =9 (B Wy f&vm =
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29, ‘dwel Higw' % WIER A FUE W =X, 4 # ArG 9 e §, 79 wH g
(A) gig wd (B) diqa wH
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30, 2 TIHH SUE % Fg S H HE AYE BH W
(A} 457 @@ w1 MEEN YW =9 Em
(B) st amm w1 afgme 9r afaw 2
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(A) NPV 99is ¥ (B) NPV ®Ue® ¥

(C) NPV ¥ % (D) =T ¥ FE &
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32.

33.

4.

35.

36.

If there is no fixed cost :

(A} Operating leverage will be zero
({B) Operating leverage will be one
(C) Financial leverage will be zero
(D) Financial leverage will be one
In job analysis, PAQ stands for :
(A} Position Analysis Questionnaire
(B) Present Action Questionnaire
(C) Present Analysis Questionnaire
(D) Position Action Questionnaire
HRP is rarely required in case of :
(A) Ancillarsation (B)

(C} Off-loading (D)

Sensitivity training was developed by :

(A) Chris Argyris (B)

(C) Kurt Lewin (D)

When an interviewer expects his own knowledge, skills and values in a

candidate, it is known as :
{A) Personal bias {B)

(C) Constant error (D)

T.B.C. : 2T 14/ET—II 20

Subcontracting
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32.

33.

34.

35.

36.

TR FE T aTm AR @

(A) =15 =T I= AW

(B) ¥ FX TF W

(C) fadim =X w= am

(D) fasta =1 & am

St favemm #, PAQ frefe =@ & .
(A) Ui TAfates savaed

(B) W= UwE FATE

() ¥ Tfafan Few

(D) WSHYH T Ty

HRP #! 7= ufifen § sga 0 smavgsa 26t ¥ -

(A) STwiIfTHHT (B) swHEfeR

(C) #Hfm =fem (D) = Tt

g foen = 9= fem oo

(&) Frw it 3 ®) w9 3

(C) =2 afgs 3 (D) =TreEd 3 ASEReve 3

W& WATER W A, A9dl § oy g9, wyeE @R i w1 osmn w § @ o
WW%:

(A) =afFra veuE (B) T W™
(C) Fra smfa (D) &= s
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37.

38.

40.

41,

The limits of the population correlation can be estimated by one of the

following :
(A) r + PE (B) r = SPE
(C) r + SE (D) r + 38E

When the value of r is zero, the regression lines intersect each other at an

angle of :
(A) 40° (B 60°
(C) 90° (D) Parallel to OX and OY

Which one of the following is frue for normal distribution ?

(A Qs - Qy = Qy — @ (B) Median > Mode > Mean

(C) AM = GM = HM (D) Mode = 3 Median — 2 Mean
Which of the following is not an example of data processing 7

(A) Numerical Calculation

{B) Classification of data

(C) Storing the fields within a record

(D) Transmission of data from one place to another -

The Non-Performing Assets (NPA) provision coverage stipulation set by RRBI

for Indian Commercial Banks is -
(A) BO% (B) 60%

(C) T0% ' (D) 80%

T.B.C.: 2714/ET11 22



37.

38.

39.

4.

41.

Fou=n TE-T= w) Ol w1 owwen refafam g e oW == £ -

(A} r PE By r + 3PE

il

(C) r = BE (D) r = 35E

¥ r ® A YA B, 79 Worew vl O o W wed g4, S0 gt ¥ o

(A) 40° = (Bl 60° =
(C) 90° = (D) OX #" OY & THARH
frfefEs § | $9 @ = oo & foo ot & 7

(A) Qz -~ Qo = @y = (B) wifimsht > =gersh > AIEY
(C) AM > GM = HM (D) =g@® = 3 =i - 2 9199

fm ¥ w=mm Aiwg foam & S 9d9 27
{A) TEwTEE A

(B) sf=gi =1 fAwem

(C) faamm # sEids =1 w0

(D) O TF | g8L % S = OYg0

AF-TTRIHT T@EH (NPA) TEtes Fadw feqewH, =1 RBI 5 9WdE =i s
% fau @ @ %, T

(A) 50% (B) 60%

(C) TO% (DN 80%
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42 Under current banking laws, the capital of the bank with respect to credit risk

1s determined by :
(A) Designated risk weight in each asset category
(B} Risk weight of individual loan risk
{C}) Oversll size of loan assets
(D) None of the above
43. How many Governors preceded Governor Raghuram Rajan, of RBI 7
(A) 22 2 (B) 23
{C} 25 (D) 21
44. . NEFT was launched by RBI in -
(A) November, 2005 (B)  November, 2006
(C) November, 2004 (D} November, 2007
45. The principal causeis) for the shortage of international liquidity is (are) :
{A) BOP Deficits
(B} High Tariff Barriers
(C) Unequal distribution of internal reserves

(D) All of the above

T.B.C. : 271 4ET—II 24
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T T -
(A) 7= 9 gt H§ TfiE Sifem 9R B
‘B =ifFa WO wi@d & Sifed W T
(C) T Yt B YOl =Y
(D) TwF § § FE T
43 RBI 3 fFa TouOrE, TeONE TIOW TeW W A (W) 4 7
(A) 22 ’ (B) 23
(C) 25 D) 21
44. NEFT % RBI 3 wwafaa e = :
(A) TR, 2005 H (B) wawR, 2006 H
(C) =, 2004 H (D) HEwE, 2007 H
5. s qfeiE B wE F 9w FE THE R EE
(A) BOP =2
(B) ¥=9 f® F@ITH

(C) =rafE fod =1 smwH faam

(D) s9d=a It
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46. IMF provides leoans at concessional rate of interest through the following

facility
{A) Exogenous Stock Facility (ESF)
(B} Stand By Arrangement (SBA)
(C} Compensatory Financing Facility (CFF)
(I Beth (B) and (C)
47. Balance of payment includes current Ade, capital Afe and :
{A) Net Account (B) Adjustment Account
{C) Official Reserves Account (D} Reserves Account
48. It is the “Soft loan window” of IBRI} :
(Al WE (B) IMF
(C} IDA (I ADB
4% Point out the period for which EXIM Policy is announced :
(A) One vear (B} Five years
(C) Two years (D} Bi-yearly
2. Marginal cost equation i=
A)) F-V-P=25 B S-F=V+P
(Cy 5-V=F+P M S+P=F+V

T.B.C.: 27T14/ET=I1 28



16. Frefafam § § =r= gfow & g0, IMF %0 ® &9 & 50 W g 9@ ¥ 7
(A) =9 =T gfaw (ESF)
(B} == =Haed (SBA)
(C) whrifm fasm@ gfEw (CFF)
(D) (B) W (C) TF
47. yram # im O A wiEe § e wmn, I oam o e
(A) T2 = (B) ®9=g M=
(C) sfugd = - (D) frod =
48. IBRD %t 'me @n fa=t' (g =v fagsl) ¥ .
(A) WB (B IMF
(C) IDA (D) ADB
49. 38 Ty 7 fff= =fen, fag 3@ EXIM Afifa &1 Soon = S § o
(A) 1 B (B) 5 =@
() 2 9= (D) feamitg
50, dr AW EHE E
(A F-V-P=8 B) S—-F=V+P
C)S-V=F+P M S+P=F+V
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